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QUESTION 1

The troubleshooting methods that can be used to separate external faults are:
A. Configuration Data Analysis

B. Meter Test

C. Replacement

D. Loopback

Correct Answer: D

QUESTION 2
Which of the following statements about MPLS is wrong?

A. MPLS has two planes: control plane and forwarding plane. The control plane is connection-oriented, the forwarding
plane is connectionless.

B. MPLS is not a service or application. It is a standard routing and switching platform that supports various upper-layer
protocols and services.

C. In the packet transport field, the MPLS technology is mainly used to construct tunnels to carry various types of
services (for example, TDM, ATM, and Ethernet) transmitted by PWE3 to implement end-toend transmission of services
on packet networks.

D. MPLS packet forwarding is based on labels.

Correct Answer: A

QUESTION 3

The causes of discrete services are as follows:

A. The cross-connection configuration on the NE is incorrect.

B. The logical fiber connection of the NE is inconsistent with the physical fiber connection.

C. The configuration data on the NE side is not uploaded to the U2000.

D. A subnet service whose source or sink port is not in the management scope of the U2000 is available.

Correct Answer: D

QUESTION 4

When many alarms are reported at the same time, the alarm handling priority is as follows: Handle alarms according to
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the priorities of equipment alarms (such as BUS_ERR, HARD_ERR, and COMM_FAIL), optical-layer LOS, electrical-
layer OTUK_LOF, ODUK_SSF, and protection switching.

A. True
B. False

Correct Answer: A

QUESTION 5

Which of the following statements about the latency of a storage and forwarding device is false?

A. The last bit of the data frame enters the device and starts timing.

B. The first bit of the data frame enters the device and starts timing.

C. Reflects the performance of network devices. Generally, it is not compared with the bit forwarding device.
D. The first bit of the data frame appears at the output port of the device and stops timing.

Correct Answer: A
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